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SITE COVERAGE OF GREENERY AT PEDESTRIAN ZONE

PEDESTRIAN ZONE GREENERY AREA GREENERY AREA AT PEDESTRIAN ZONE , 100%

A
TOTAL= 117.077 S.M. I 74-%'? 85
+
= : = x 100% = 15.479% > 15% (REQUIRED GREENERY AREA AT PEDESTRIAN ZONE
OTHER GREENERY AREA 1235.053 /21935 053 x 15%
[ ] TOTAL= 67.084 S.M. =185.258 S.M. ~
TOTAL VERTICAL GREENERY AREA TOTAL SITE COVERAGE OF GREENERY
| TOTAL GREENERY AREA
% - . - 0
/2] TOTAL= 75360 SM. - STEARER x 100%
i kol 117.077 + 67.084 + 74.103 ‘
(30% OF THE REQUIRED GREENERY AREA = O oo x100% = 20.911% > 20% (REQUIRED TOTAL GREENERY AREA)
= 1235.053 x 20% x 30% = 74.103 S.M.) - = 1235.053 x 20%

£ = 247.011 SM.



